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A.|LS+OL6O (ALGOrithmic Language): 19604 =& & & 2|0
M oEHE

CPL (Combined Programing Language) :19633 E= i
EEEE,

BCLP (Basic CLP) : = ZH 5 2| X| 2 EHC} st

B : O|= AT&T Bell 8414~ 2| Ken Tompson, 19703 2 &

C: O0|= AT&T Bell 29| Dennis Ritche, 1972

C++ : = COj|A] OOP(Object Oriented Programing, 24| X|
=)ol 7 =Tt
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= ANSI C (American National Standard Institute) :
HT=oA A, “Standard C"
= Visual C : Microsoft AFO|| Al 7) &
= Borland C : Microsoft AFOJ|A{ 7] &

- Z=1HO| B=0{X|= XL

> Source Code --> Sorce File ( *.c) --> M X 2| K| A
0f 7}

> Sorce File --> Object File (*.0bj) --> Executable
File(*.exe)
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#1nclude <stdio.h>

int main(void){
printf("from sea to shining C\n");
return o;
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A
sea =12 FAM(3)

- printf("from sea to shining C\n");
pl‘lntf = O] ”27} 7| W20l printt(Q= 28
- Mg Flo Mol=& ;0| 7| =20 0| A= 2 Y.
- 5,C0M 2= =82 MOEE2L=2 €.
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printf()

- StHO| = Hots
» AHH O E printf() 7 A= 87, Fl0l LIL=
printf)2| &= 2 HIE & printf()Q| OFX| T == 2
KOl MFE Al &S = oLt
« &, LIS printf)=
prlntf("from sea to shining C\n");
Ct2 D 20| ARSI = 242 =38 L},
printf("from sea to ");
printf("shining C");
printf("\n");



printf() 0| A

#include <stdio.h>

int main(void){
printf("\n\n\n\n\n\n\n\n\n\n");
printf(" %%%%%%%%%%%%%%%%%%%%%%%%%%\n");
printf(" * from sea *\n");
printf(" * to shining C *\n");
printf(" %%%%%*%%%%*%%%%%%%%%%%%%%%\n");
printf("\n\n\n\n\n\n\n\n\n\n");

return o;
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/* The distance of a marathon in kilometers. */
#1include <stdio.h>
int main(void)
{
int miles, yards;
float kilometers;
miles=26;
yards=385;
kilometers=1.609"(miles + yards / 1760.0 );

1Ermtf ("Wn A marathon is %f kilometers. W¥nWn",
ilometers);

return oO;

-

==> A marathon is 42.185970 kilometers.
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int ping, pong, hap;

scanf("%d%d", &ping, &pong);

hap = ping + pong;

printf("~3 2} F-2] -2 : %d\n", hap);
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/* The distance of a marathon in kilometers. */
 FHEE2 /oY 2 SO
- int miles, yards;
» AAE, B miles, yards7t H4fS 7tX| = B
o [/HRIEN EE 2 MOEELE EH.
 float kilometers;
- ARlE, HE kilometers7F H 48 & 7HA| = B
o B MRS LM AFESHE}
- o HiE
> miles=26; yards=385;
- HIEE, §d 4= 261 38571 # == milesi}t yardsOj| Zf2+ B =ICF.
- kilometers=1.609*(miles + yards / 1760.0 );
o HIEE /, %+ HAXE (G, %, ...)
 printf("Wn A marathon is %f kilometers. WnWn", kilometers);
» BB AL %f 11 Ol K} kilometers= &S 0| =M, kilometers?| 40| 25 A
2= (float) A4 %o ¢|X[0f == &.
- H0| gt S8t H MAX|HO| HR5ICt.
o =AlO| Hzt A&l (Conversion rule)
° 7/2-->3,7.0/2-->3.5
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1.4 #define 1} #includel| AL

#define LIMIT 100
#define PI 3.14159
#define C 299792.458
/* speed of light in km/sec */
# . MXA 2| 7| X| ARt (Preprocessing Directive) : O| &
SOl 2ot o= AW ofH, MK 2|7 = =X E
gL =45 M 2loh 20| M T L.
 #include"my_file.h"
- fileOf| my_file.h L} 2 0| AfE L Sh
- CO|M N Sot= & of It & : stdio.h, string,h,
math.h, .... <xxx.h>
15| O K| Of &{|)
/*In file pacific_sea.h */
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- HZIE X} (Conversion Character) - printf()

c: as a character (& X})

- d: as a decimal integer (107 &)

- 1d: as a long type decimal integer (long™ 10X =)
e: as a floating point number in scientific naotation
f: (X|+=2..)

g: as a floating point number (float, double)

s: in the e-format or f-format, whichever is shorter as a
string (Z At &)
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. §P”401I abc =&ol= & H
prlntf("abc")
= printf("%s", "abc");
= printf("%c%c%c", 'a','b’,'c');
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- printf()2| &M X[

* %EHE ZXE|=HeE X}

> %d ->123

= %5d->_ 123

© %2d ->123 (K| F=0| Ot E€Qot F2 2tH)

> %f ->654.321000( ET=ZC 2 ==

o %12f > 654.321000 (XA HO| 12X2| 2=

H, 0|02 EE=CE =8)

° %9 of ->_ _ _ 654.32 (2 20| 9XIE|2EEH,

O|}= 2K2| 2 =3)
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scanf(): 7| HE Q&

scanf( )°| HalZ X<

scanf (" %HBHRXL", &%), MSHEXL HAlS 2 @
24 HHOLS 9l

':H H 2} 5 X} (Conversion Character) - scanf()

= ¢: to a character (& X})

> d: to a decimal integer (102 &)

- 1d: to a long type decimal integer (longd 107 M=)
= f: to a floating point number (float)

= If: to a floating point number (double)

= IF: to a floating point number (long double)

> s: to a string (2AtE€)
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printf("%d", a);

- b7} 30| ™ a
* b7} 30| OfL|H
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if(cnt==0){
a=2;
b=3;
C=5;

¥

else {
a=-1;
b=-2;
C=-3;

¥

printf("%d", a+b+c);
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>cent7todf= 7IX|H10 =8, AKX U O M -6



e — |

« while £
= UHLA Ol HE : while (RHAN { 2%}

#include<stdio.h>
int main(void){
int 1=1, sum=0;
while (i<=5) {
sum-+=i;
++1;
}
printf("sum= %d ¥n", sum);
return o;
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o ++41, i++; 7t

o, e ZA

° 1=1+1; 1=1-1;



#include<stdio.h>

int main(void)

{
int sum=o0,1;
for (i=1;i<=5; ++1) {
sum+=1;
¥
printf("sum= %d ¥n", sum);
return o;






